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% H & 64,043,000 0 64,043,000
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% oW M 0 0 0
HE I 0 0 0
I 67,531,760 31,911,000 99,442,760

(2) e
i =3 40,790,910 9,868,780 50,659,690
o B B’ & 1,567,586 0 1,567,586
ST S - T 1,668,000 360,000 2,028,000
B e A A A 83,000 2,240,000 2,157,000
nmooE owm M R 6,596,704 1,221,548 7,818,252
- 493,600 157,400 651,000
N 51,033,800 13,847,728 64,881,528
= £ 5 228,000 330,000 558,000
DI S T i 162,000 374,000 536,000
i ROE R R 792,000 200,000 992,000
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L oy 6,000 82,000 88,000
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xr o B Kk OB R 447,000 110,000 557,000
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